Year 9 Mathematics

Common Task

Term 3,2006

Name:

Class Teacher ( circle} -RBL. GP * MWA

Topics: - Surds
Recurring Decimals
Properties of Geometric Figures
- Circle Geometry
Coordinate Geometry

Time: 50 minutes

Instructions: Answer all questions.

Calculators may be used.
 Marks may not be awarded for untidy or careless work.
Show all necessary working.

Diagrams are NOT drawn to scale
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1. Simplify the following surds: .

@  2VB3+5V3-42

() 20 +/45 -~/80
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2. Rationalise the denominatdr in the following:
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3. Convert 0.38 to a fraction in its simplest form.

4 Showthat 0.9=1.
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6. AB and AC are tangents to a circle with centre O.

Cc

(a) Using your circle geometry rules, prove that A ABO = A ACO.

J

(b)  Hence prove that OA bisects angle BAC.:
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7. Find the value of x and y in the diagram below. Give reasons for your answer. 2
/
|
8. "In the following diagram, O is the centre of a circle and ZAOR = 2x°. Find the

values of ZAPR and ZAQR in terms of x. Give reasons for your answers.
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9. Show that the external angle sum of an octagon is 360°. .2
T
:
10.

ui \\

E X cm F |

(a)  Provethat AABC is similar to A DEF 2

i

(b) Hence find the value of x.
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11."  Given an interval between the points A (3, 4) and B (6, - 8), find showing all working
(a)  The midpoint of the interval AB.
|
\
(b)

The gradient of the interval AB.

(©) The length of the interval AB.

(d) Show that the equation of a line passing through A and Bisy = <4x+16
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12.  Find the equation of a line perpéndicular to the line y =-4x +16 and passing through

the point P (1, 1). Write your=mswer in general form. 3
/ .
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(c) x =4 is aline parallel to which axis?-

/
!/
!

(d y= 35{ +4 has a gradient of _

End of Examination
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Simplify the following surds':
@ 2v3+5V3-442

N N ‘Pﬁ:
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() V20 ++45-+80
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. Rationalise the denominator in the following:
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3 Convert 0.38 to a fraction in its simplest form

. 2
led A * 0,282818

e -y

W00~ = 38303838 ...,

%, = 38
=R
RN
.. 0,28 =
Show that 0.9=1,

3z
4. ' o )
Lot A = 0-99999.... - ' '
'\'04 e 9,9999’,..,
q.fr '-9

A

n 5
. Ot?“ 1.

Find the value of x in the follow,inﬁ, giving reasons.

2
x . .
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AB and AC are taqgen}tas toa circlc? with centre O ‘
¢ .
@)  Using your circle geometry rules, prove that A'ABO m A ACO 2
. . 0 = 0C C molii- of ciele ) o
ZOtA « Lo = 90° (~%ﬁm3¢n£ bo aciche i3 rkaf/od{wla/
' bo Ha md,“u)-lo(muh Jo fka,/o,ué .
of M..taoo " .
0A 3 o Lowmigm rrrx(o— ool -3 Mz A,,,a/ew:e
of AACO and mf ando L
a0 E apco  (kHs)
" (b)  Hence prove that OA bisects angle BAC. 1
L BA0 = £ CAQ . Ccoxm/oda(r». W/b 2 RMW a)
L LAC = [.440 + LCAO

v L4AY +'.,6/!'/}'0
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7. Find the value of x and y in the diagram below. Give reasons for your answer
. . xo
ya ' 93°

= ¢ 180° -92°

v ?j//d&/zﬂ a/:‘(’/-ﬂ“ 'f o tyelic QUQCZ’/.@//@"’"
= g9° 0k Surylemeadoy - o
o . /'/ J
e *ox §7°
dJ

—&{-h.;l‘ar Q/&I/Q #MW
i Q‘gv(«v(_ o fle Fadevior %/%a_l_;& a/(r/l
.. Jv,ea,cz;é live da, 180°

ot 4:1g0-93 « g0

S
8.

‘In the following diagtam, O is the centre of a circle and ‘£ AOR = 2x°. Find the
values of LAPR and ZAQR in terms of x. lee reasons for yom answers,

- Adle of #o contt o(a cicle <o tw fiut
Yo aple of H#a CMCUW,&—G«»(.G IW
= 2 LAAO T e Bt
T . o
B0 = = CEAC = cCAD [08] <k - Joee Soiron wM '
- .n OA MSQW & glqc' QK- IQIWO,/ a-/1z /Zﬂ— GI/L\/-"‘ Cs,bd/('//"
. . ‘ - 04 #e fouse ot ol &2(—4»2
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9. Show that the external angle sum of an octagon is' 360°. .2

At sk vestes of Ma oc//aﬂo./r /Kt Svn 01[/‘& iudevios Mb(
“Q""MO/ W/GJ oy 1800 (q J'fé'ﬁ-/qbf, /m&)

/AL $onm wp i denos w/&; L ['/V&\ &q (a-2)x(00° = (&g}sffo

= lp§o°
$omn o»( Eetesor ﬂq/&: Jour ol UL M/&v:o/ Map/eﬂb/ a,«f/e« — Pu.,:tﬂof/ '
in 4 A -
= 8x 180" — 1080° arflen,
* %o’ ~ 10%p°
¥ 360° .
, 2 Cederad ovz(le Fva Efom 09./'%3’04 wy 260"
10. : . D
10 cm
. ' ' E .,x cm F
(@  Provethat AABC.is similar toADEF 2
For_siiailunby, #e /ow‘m oV co//wadm siler st 4o gguad.
gc. T _ : :
lwls,mé(mu.rp = 9——: s = <+' s 0.5 lmi,fo%@muw auil o0 @%{/f@
AL 2.5 &
@J—fm(n@ s * qo. v ¢ 0.y —
gc AL
E)F ﬁ

A Asc Il speF (@@

(b)  Hence find the value of x.
AC A4
o¢ * EF
25 6.

o - K

L 2.5% = 640

A ‘=1Z’¥‘ Cm
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The mldpomt of the interval AB.
(.9(.. 7 Yr v Y )
h T, 1.

Given an interval between the points A (3, 4) and B (6, -8),
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find showing all working:

L (B et

T %)
Ty T
7

i

(b).

(¢5,-2)

The gradient of the interval AB

E

™M 11. -2,
-8

(

1
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The length of the interval AB.

d = :/_C:,Cmv&)‘* C:‘m—g-)‘

* [(e-3)" v (2o

\

3 (1)t

=9 e
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(d)

(1o

B

o 212,37 (T of,,) —~
Show that the equation of a line pasﬂfng through A and Bisy = AT a0
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12.  Find the equation of a line perpendicular to the line y = —4x+16 and pas‘sing through
the point P (1, 1). Write your answer in general form. . . - . . 3

, - -
‘For /m{/@wdrww lines : A, F

1

Yy

. y = -1 )
0 CGrackieawk  of /m,;,;wo(mula«. lae  is g T

Eg_uqﬁo:n of Ling :

Sy r o (’F”HL'.-)
= Gl -t)
$yvg =x-|

J ‘ .
d .

E?W/)LZOJ' m[\ lal Au/b«b{/cu(u -lo y -"@}C*/b
. 4q,£$l«(7 ’}'leuré /C’ :'J

X, (41’9,43 0

13.  Complete the following sentences:

(@)  y=0 istheequationof __the "= - &xif . . 1
(b) - y4-—z— has a y-interceptof b o- (0,¢) 1
(© x=4 igaline parallel to whicfi axis? the :(. ~Qvif 1

uiv
=3

' @ y= 157-6— +4 has a gradient of

End of Examination




